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APPENDIX A: Sample Hogan EQ Report (continued)
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APPENDIX A: Sample Hogan EQ Report (continued)

HOGAN

The degree to which a person seems able to feel what others are feeling

Low scorers tend to be: High scorers tend to be:
Unconcerned with others’ feelings Attuned to others’ feelings
Blunt and direct Tactful

Indifferent to others’ moods Responsive to others’ moods
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Mr. Sample's score on the Empathy scale is below average. He should seem:

. Largely indifferent to others’ emotions

. Uninterested in others’ needs

. Occasionally selfish and rarely supportive of others
. Unlikely to calm others

. More individualistic than a team player

Potential pros and cons of Mr. Sample's score as it relates to leadership, teamwork, and employability:

Leadership Employability

Strikes a good balance between

Makes objective decisions that may be  Rarely unduly influenced by other <he g ibtereshin sibem Wil

unpopular team members - .
pursuing own interests
" Attimes can be insensitive to . o ) May be seen as self-centered and
c ; ; At times may prioritize own interests
) subordinates’ problems or not attuned T e unapproachable by colleagues and
(SN to their needs managers

Things to discuss with Mr. Sample:

. When were you last deeply affected by somecne else’s sadness?
o How often do the feelings or moods of others influence you?
. How important is it for you to put yourself in other people’s shoes?
. Do others see you as caring and altruistic?
Lucas Sample ID UH503949 4.02.2013 9
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APPENDIX B: Norms for the Total Sample

Hogan EQ Report Norms

Raw Awareness Detection Regulation Influence Expressivity Empathy
0 (0] (0] (0] (0] (0] O
1 0] 0] 0] 0] 0] (0]
2 0 0 0 0 0 o]
3 0] 0] 0] 0] 0] (0]
4 0] 0] 0] 0] 0] O
5 0 0 0 0 0 0
6 (0] (0] (0] (0] (0] 0
7 0 0 0 0 0 ¢}
8 0 0 0 0 0 0
9 (0] (0] (0] (0] (0] 0
10 0 0 1 0 0 0
n (0] (0] 1 (0] (0] 1
12 (0] (0] 1 (0] (0] 1
13 0 0 2 0 0 2
14 (0] 1 2 1 (0] 2
15 (0] 1 3 1 (0] 3
16 0 2 4 2 0] 4
17 (0] 3 5 2 1 6
18 1 5 7 3 1 7
19 1 9 8 4 2 10

20 2 13 10 6 3 12
21 3 20 13 8 5 15
22 4 29 15 10 8 19
23 6 39 18 13 n 23
24 8 50 21 17 17 28
25 12 62 25 21 23 34
26 17 73 30 26 32 42
27 23 83 35 32 41 50
28 32 90 41 39 52 60
29 42 94 48 47 63 70
30 53 97 55 55 73 80
31 64 99 62 63 82 88
32 75 100 70 71 89 94
33 84 100 79 80 94 97
34 91 100 87 87 97 99
35 96 100 93 93 99 100
36 98 100 96 97 100 100
37 929 100 929 929 100 100
38 100 100 100 100 100 100
39 100 100 100 100 100 100
40 100 100 100 100 100 100
Note. N = 66,950.
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